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Directions: Use long division to divide.

1. (—40x— 8x3 + 1947 + 22 + 3x%) + ( 2+ 3x) 2. (9n°—6n*-90n + 64) + (In - 6)
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Directions: (A) Evaluate the given function at the given value

{B) What is the divisor?
{C} Is it a factor?

3. fla) = 3a* —21a® +30a® + 11ata= -5
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4. fla) = —6a’ 4 32a° — 5a* — 30a3 + 19a* + 35a - 25ata =5
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Directions: Use the Rational Root Theorem to find all zeros.

5. xt-2e4xlogx-12=0 p by iy Y3ty to, 5
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Possible Roots: t\’ rz, 32"5, f‘,\t A (o,t\?... q = x
Actual Roots: _\l ?3) Y ! By
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6. 2x* + x> —16x  —5x+30=0 1’) &.\‘ i"”zr%,"bi"’;%‘i(:3}3:‘0;3;\"‘:530
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